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3 SEMMO TiR(CHEET ST SEMHA
ﬁfg TREOBBOEILADKES TREOHBEEILNDOKRES TREOBBORILEHDKRES TREOHESSLENDOKRES
&S X 4 _(E;;é) ‘Fﬁn”ﬁfs\(rf.;)o)ﬁﬁ‘%’é ﬁ(ﬁitnié X 4 Tﬁﬁﬂg\%‘égikfF ‘(.%r‘n? jj(ﬁﬁié X 4 ‘(,é,;né; J:ﬁﬁ“ﬁb\(:‘;)o)tt%‘ jj(ﬁﬁié X 4 J:ﬁﬁ”ﬁ;b\(i)d)tt% ‘(&S 73(@3?;2*
! 100kN/MZH#BZ. % — -~ — —|3mEEZS -~ — — —[ 100kN/MZE#BZ % — -~ - —|[3mZBZ D -~ — — —
ThLst 1.00| 000 ~ 5.73 7158 | #nkist | 0.00 ~ 0.00 | 1.57 7.92 zhLs 1.00 | 5,00 ~ 7.00 7158 | =4t | 5.00 ~ 7.00| 1.57 792
) 100kN/mM%#B % % — -~ — —[3mZEBZ S -~ — — —| 100kN/mi%#BZ.5 — -~ — —[3mZEBZ D -~ — — —
zh st 1.00| 000 ~ 7.18 91.30 | #xlist | 0.00 ~ 0.00 | 1.61 8.15 znLs 1.00| 500 ~ 9.82 91.30 | #h L4t | 5.00 ~ 9.82 | 1.61 8.15
3 100kN/m#z#%2%| 1.00| 000 ~ 0.72 110.70 |3mZE#BZ % -~ — - — | 100kN/m##x 5| 1.00 [1053 ~ 1259 110.70 |3mZE#EZ5 — ~ - - —
znst 1.00] 0.72 ~ 850 100.00 | Zhkist | 000 ~ 850 | 2.20 11.14 Zzhus 1.00 | 500 ~ 1053 100.00 | Zhkist | 5.00 ~ 1259 | 2.20 11.14
A 100kN/mi%#%%| 1.00]| 000 ~ 0.88 113.14 |3mZE#B 25 -~ - - —| 100kN/mi%#8%%| 1.00 {1054 ~ 13.18 113.14 |3mZE#BZ 5 -~ = - -
zhLst 1.00| 0.88 ~ 8.66 100.00 | Zn A4t | 0.00 ~ 8.66 | 2.16 10.93 ThLs 1.00 | 5,00 ~ 10.54 100.00 | #nlist | 5.00 ~ 13.18 | 2.16 10.93
s 100kN/m%#8x%| 100 000 ~ 0.77 111.49 |3mZE#BZ 5 -~ - — —| 100kN/mMiZ#B%%| 1.00 |10.75 ~ 13.20 111.49 |[3mZE#BZ 5 -~ = - -
ThLst 1.00 | 0.77 ~ 8.56 100.00 | =1 uist | 000 ~ 856 | 2.09 10.56 zhst 1.00| 500 ~ 10.75 100.00 | Zh st | 500 ~ 13.20 | 2.09 10.56
6 100kN/M%#B % % 1.00| 0.00 ~ 0.77 111.49 |3m%EZ5 -~ — — —| 100kN/mi%#8% 5| 1.00 [10.75 ~ 13.20 111.49 |3mZEiBAD -~ — - —
Zzhsn 100 077 ~ 856 100.00 | #h a5t | 000 ~ 0.00 | 1.69 8.56 zhs 1.00 | 500 ~ 10.75 100.00 | 15t | 5.00 ~ 13.20 | 1.69 8.56
. 100kN/mi%#8%%| 1.00| 000 ~ 0.1 107.57 |3m%iBZ % -~ — - —| 100kN/m%#E%%| 1.00 |11.35 ~ 13.15 107.57 |3mEBZ 3 -~ — — —
ThLst 1.00| 051 ~ 830 100.00 | =1 ld4t | 0.00 ~ 0.00 | 1.63 8.24 zhList 1.00 | 500 ~ 11.35 100.00 | #nlist | 5.00 ~ 13.15| 1.63 8.24
o 100kN/mi#%#8x%| 1.00| 000 ~ 0.51 10752 |3m%#BZ % -~ - - —| 100kN/ %8 %% | 1.00 |11.56 ~ 13.43 107.52 |3mZE#BZ % -~ = - -
zhLst 1.00 ] 051 ~ 8.29 100.00 | Zh1List | 000 ~ 0.00 | 1.62 8.17 zhLs 1.00| 500 ~ 11.56 100.00 | Zh st | 500 ~ 1343 | 1.62 8.17
9 100kN/mM#Z#BZ % 1.00| 0.00 ~ 0.60 108.84 |3m#E#EZ D - ~ — — — | 100kN/m%#% 5| 1.00 [11.50 ~ 13.71 108.84 |3m%ZiBA D -~ — - —
zhnLst 1.00| 060 ~ 8.38 100.00 | Z1Lld4t | 0.00 ~ 0.00 | 1.62 8.19 FhLs 1.00 | 500 ~ 11.50 100.00 | #nlist | 5.00 ~ 13.71 | 1.62 8.19
0 100kN/m%#%%| 1.00]| 000 ~ 0.60 108.84 |3m%E#BZ % -~ - — —| 100kN/mi%#8%%| 1.00 [11.50 ~ 13.71 108.84 |3m%EH#BZ 5 -~ = - -
ThLst 1.00 | 060 ~ 8.38 100.00 | =4t | 0.00 ~ 8.38 | 2.00 10.10 ZzhList 1.00 | 500 ~ 11.50 100.00 | #hLlst | 5.00 ~ 13.71 | 2.00 10.10
» 100kN/M%Z#BZ % - -~ — —|3mZBZD -~ — — —| 100kN/mi%#BZ. 5 - -~ — —[3mZEEBZ D -~ - — -
zhLst 1.00 | 0.00 ~ 5.93 7419 | =nist | 000 ~ 0.00 | 1.57 7.91 zhLst 1.00| 500 ~ 740 7419 | =gt | 500 ~ 740 1.57 7.91
100kN/MZH#BZ. % ~ 3ImEBRS ~ 100kN/m%Z#BZ % ~ ImEBZD ~
Zzhs ~ zhus ~ zns ~ ZzhLs ~
100kN/m%#B % % ~ ImEBAS ~ 100kN/mM##BZ % ~ ImEHEZD ~
Ths ~ zhus ~ Zznsn ~ Zzhsn ~
100kN/mMZH#B 2 % ~ 3mEBAS ~ 100kN/m#Z#E % % ~ 3mEHEZD ~
Zzhsn ~ zhs ~ Zzhs ~ ZhList ~
100kN/MZ#BZ. % ~ 3ImEHBRS ~ 100kN/mZ#8 2% ~ ImEBZD ~
Zhs ~ Zzhus ~ Zzhus ~ zhLs ~




